htl donaustadt, Abteilung EL, IT

tablel := [

vlook (z) == vlookup (z , tablel , ORIGIN + 1)0

1 2000
2 2400
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1 500 ]
1 600
2 45.6
200
3 123
32400 |

table2 :=

'l\)>—*l\)>—*l\)>—‘l
V)

RIGIN

table3 := augment <table2 , viook (table2<°RIGIN>>>

table3 =

I[\)»—A[\J»—‘[\Jb—il

W W NN ==

500 2000 ]
600 2400
45.6 2000
200 2400
123 2000
2400 2400 |

viook (tableZ(ORIGIN>> =

table4 := stack ([ “EL-ID” “Load-ID” “Force” “MaxForce” ], table3)

table4 =

{f}

1
2
1
2
1
2

1

W W NN =

[“EL-ID” “Load-ID” “Force” “MaxForce” |

500
600
45.6
200
123
2400

2000
2400
2000
2400
2000
2400
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[2000]

2400
2000
2400
2000

[ 2400 |

[Name, Klasse, Kat.-Nr.]
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